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� Please check that this question paper contains 8 printed pages.

� Code number given on the right hand side of the question paper should be written on the

title page of the answer-book by the candidate.

� Please check that this question paper contains 30 questions.

� Please write down the serial number of the question before attempting it.

� 15 minute time has been allotted to read this question paper. The question paper will be

distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the

question paper only and will not write any answer on the answer-book during this period.
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ÀÀÀÀòòòò3333ååååXXXXLLLLZZZZcccc****]]]]::::

ÎZÑ]Ñiò�X ÓÓÓÓxxxx (i)

~Nƒñ�X D Zzg C ÔÔÔÔB ÔÔÔÔA 8{ð OV eeeegggg ÎZßV6,Œì� 30 t6,pÎZÑ] (ii)

ÎZÑ]�ÔX~ bbbb~ B �ìX8~î O ZZZZqqqq---- ÎZÑ]�ÔX~ÐCÙZq-ÎZw» bbbb~ A 8~î O (iii)

��X 3 ÎZÑ]6,ŒìÔX~ÐCÙZq-ÎZwÆ 10 ÔÔÔÔC �»ìX8~î O 2 ÐCÙZq-ÎZw

ÎZÑ]�X 8 �zVÆ 4 ÔÔÔÔ4~D 8~î O

ÎZÑ] 3 �zVzZá 4 ÔÔÔÔ4 ÎZÑ]~Zzg 4 �zVzZá 3 ÔÔÔÔ3 ù¦îg6,ÃðZ(g7Šc*ŠHìX (iv)

„�ŠwÎZw» ZZZZqqqq---- ~Z0+gzãZ(gŠc*ŠHìXZ0+gzãZ(gzZáÎZÑ]~ÐCÙZq-~W\Ã

�Z[ŠbìX

ìX 7777 µ5Ó½ð G{ZEw™äÅZYi] (v)

A 8888~~~~îîîî OOOO

�ìX ZZZZqqqq---- ~CÙÎZw» 6 @*ÎZw� 1 ÎZw�

ÅŠg¥xÙX k »Zq-_.gìÔÂ x
2 − 2kx − 6 = 0 ÔŠzŠgY)zZ] x = 3 Z¤/ .1

HƒÇ? (H.C.F.) »¬›ZWœu (composite no.) ƒÐgLGŠ°ŠZzgƒÐgL‘o°Š .2

»JZÐÃ,¥xÙX P(x, y)` .3

ìÔÂZk»ªgÁ¥xÙX (a
7
) = 4 Zzg‚ÂZVgÁ d = −4 ~œu�Ût: A.P. Z¤/Ë .4

ÅHŠgƒÏ? (cos2 67° − sin2 23°) .5

Â¥xÙ: ÔZ¤/ ∆ ABC ~ ∆ PQR Šc*ƒZì: .6
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B 8888~~~~îîîî OOOO

��X 2 ~CÙÎZwÆ 12 @*ÎZw 7 ÎZw

Zq-)**ê°ŠìX )**êìÔU*"$Ù� Šc*ì� .7

ÅŠg,¥xÙX y Zzg x Zq-lìX ABCD ~Ô 1^ .8

1 ^̂̂̂

ZDs»quÿ L¦¥xÙX 8 Æ¬ 3 .9

ÅŠg¥xÙX m ¾Ú~„™}Ç?Q P(4, m) Ã B(6, −3) Zzg A(2, 3) ¥xÙ�Õo .10

ŠzZ0*²VÃZq-‚BZYÑŠHXZÈw¥xÙ: .11

Šz°²)e&Ò3ï EGH(qÝƒä» (i)

ƒä»X 10 ŠzâV0*²VÆyÎV»quÿ L¦ (ii)

ÆŠgxy»Zq-9°ŠÔ¯ËF,KMÆÔÉHŠHXZÈw¥xÙ�t°Š 100 Zzg 1 .12

Ð‡&ÿEL„ìX 8 (i)

Ð‡&ÿEL„7ìX 8 (ii)
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C 8888~~~~îîîî LLLLOOOO

��X 3 CÙÎZwÆ ÔÔÔÔ22 @*ÎZw 13 ÎZw

¥xÙZzg¤&Ù�Šb (L.C.M.) ZzgfzZD½Z� (H.C.F.) »¬›ZWœu 96 Zzg 404 .13

HCF × LCM = ƒñŠzâVZ°ZŠ»quÿ L¢[

Zzg ÆÓx#¥xÙÔZ¤/ZkÆŠz#�: Mg0: .14

Å b Zzg a ÅgZ°�ÔÂ ABCD áZi~ZÑHq D(1, 2) Zzg C(4, b) ÔB(a, 0) ÔA(-2, 1) Z¤/ .15

Šg,¥xÙXQZkÆZHqÅM×V¥xÙX

cccc****

ÅgZ°�ÔÂegV ABCD egV D(4, 5) Zzg C(−1, −6) ÔB(−4, −5) ÔA(−5, 7) Z¤/

»gK¥xÙX ABCD

ŠzgZK2w6,Hg{z‰Ü6,î 1500 km 4@*íÐZhZX 30 Zq-ƒZð˜iZLHg{z‰ÜÐ .16

»ZŸ†™**7,ZXZkÅ©wÅgëg¥xÙX 100 km/h ÆaZÐZK©wÅgëg~

U*"$Ù�Ë%,ÆZq-I6,¶ƒñ)z~ZÑHq[»gKZk%,ÆzF,6,¶ƒñ .17

)z~ZÑHq[ÆgK»Ûƒ@*ìX

cccc****

Z¤/Šz?/¢VÆgÕ)z~�ÔÂU*"$Ù�z{§z�X

U*"$Ù�Ë!*CÙ~yÐËŠZ],{6,Q‰˜ÎVÅMð)z~ƒCìX .18
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ÅŠg¥xÙX ÔÂ 4 tan θ = 3 Z¤/ .19

cccc****

ÅŠg¥xÙX A Zq-iZztqœ{ìÔÂ 2A Ô˜V tan 2A = cot (A − 18°) Z¤/

12 cm ÐQ‰¸kÔI D Zzg C ÔB ÔA ~‚tK‰´º»gK¥xÙÔ˜V%œ/ 2^ .20

6,S Zzg R ÔQ ÔP Ã!*nKMZyÆŠgxãÕo DA Zzg CD ÔBC ÔAB ÆZHq ABCD Æ%,
[ ZEwÙX π = 3.14 ] �hzV~s™D�X

2 ^̂̂̂

~Š3c*ŠH 3 Ç~ÅZq-Úk̂Z2ZäÆCÙu}ÐÛ™{Ãïw™¯ðˆÔ6�̂ .21

ƒÔÂ¯ðˆÚ» 3.5 cm »Û¢ (base) ƒZzgZkÆ‡°{ 10 cm ìXZ¤/Z2ZäÅZz™ð
ÀÒgK¥xÙX

3 ^̂̂̂

cccc****

ìX 3.5 m ZzgZz™ð 24 m »¢ (base) ezßV»Zq-eƒ%zoÅ^»ìÔTÆ‡°}

ezßV»w¥xÙXZkeƒÃe½ÆaHOkÀZecƒÇ?
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Z¾mÅ9Z�Š3ðˆ�: 280 nŠbƒñ].zw~ .22

DDDDÙÙÙÙZZZZgggg~~~~(((( `̀̀̀ 9999ZZZZ{{{{)))) ZZZZ����ÛÛÛÛZZZZŠŠŠŠÅÅÅÅ®®®®ZZZZŠŠŠŠ

5 − 10 49

10 − 15 133

15 − 20 63

20 − 25 15

25 − 30 6

30 − 35 7

35 − 40 4

40 − 45 2

45 − 50 1

¥xÙX (Median) ZyWñzVÐ9Z{Å„»zT6

D 8888~~~~îîîî OOOO

��X 4 ~ÐCÙÎZwÆ 30 ÎZw�  @*23 ÎZw�

·îÅ#³‚Yä~Ô·îÅ 24 km ìÔ 18 km/hr Zq-ñR,1^TÅ‚Á0*ã~ew .23

‚z‰Üic*Š{gìX·îÅew¥xÙX 1 ‚ZÚ„Ã,ð™ä~

cccc****

6 km/hr J-W¸i~ew~ 72 km J-ËW¸i~Zz‰ewÐ¹ìÔQ 63 km ÃðgsÇh~

]gìÔÂZkÅW¸i~Zz‰ 3 ÆZŸ±Æ‚BZz‰ewÐ¹ìXZ¤/À»̂™ä~

ewHì?
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ìÔZzg¬ZzgWy~gÁquÿ L¢[ÅŠzŠgxãZg»yÆ 32 Î@*gZ°ZŠ»quÿ L¦ 4~ A.P.Ë .24

ìXZ°ZŠ¥xÙX 7 : 15 quÿ L¢[ÐÚ

ÔU*"$Ù: 6,Zq-`ìÔZk§b� BC ÔI D~ ABC Ë)z~ZÑHq[ .25

9(AD)2 = 7(AB)2

cccc****

U*"$Ù�‡ìiZzt[~zF,»%,ŠvŠzâVZHqÆ%ŠVÆquÿ L¦Æ)z~ƒ@*ìX

ƒXQZq-Z( ∠ABC = 60° Zzg AB = 5 cm Ô BC = 6 cm UÔT~ ABC Zq-[ .26

ƒVX Æ!3Œé G.ZHqÆ ∆ ABC [úÙTÆZHq

U*"$Ù: .27

30 cm Zzg 10 cm Zq-!*yÅ^%zoÆ�Ûd-ê
H

ÅìXZkÆZz6,~Zzg−uzVÆ¢!*nKM .28

ìÔÂ¥xÙ 24 cm �XZ¤/ZkÅZz™ð

!*y¯ä~ZEwƒðŠJ]ÅeŠg»gK (i)

[ ZEwÙ π = 3.14 ] …©àö8Ðµƒð!*yÆZEwÐYV¤/m,™**ec? (ii)

Zz‘gzÝÆfgÅaKÐx@{™ä6,Šz0*ãÆ˜izVÆiZztÝ 100 m R«gÐ .29

�XZ¤/Zq-˜iŠzu}˜iÆ!*ÇúìZzgŠzâV˜ifgÅZq-„Y+$�ÔÂ 45° Zzg 30°

[ ZEwÙ ] ŠzâV˜izV»ŠgxãÃ,¥xÙX
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¥xÙX (frequency) f »®Š 19 − 21 ìX¯k 18 (Mean) qgzfs„»Šgx: .30

¯̄̄̄kkkk 11 − 13 13 − 15 15 − 17 17 − 19 19 − 21 21 − 23 23 − 25

®®®®ŠŠŠŠ 3 6 9 13 f 5 4

cccc****

»g)yÅgziZ:WæãŠ~ˆì: 50 qgzfs].zw~Ë1~~»x™äzZá

~~~~(((( `̀̀̀ ggggzzzziiiiZZZZ::::WWWWææææãããã)))) 100 − 120 120 − 140 140 − 160 160 − 180 180 − 200

»»»»gggg))))yyyyÅÅÅÅ®®®®ZZZZŠŠŠŠ 12 14 8 6 10

~psÙZzg (cumulative frequency distribution) Zk„Ã£˜ÁnÆù¦®Š„

UX (ogive) ZkÅ¤¹F,®
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